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_Algebra 2 - Partil Practice Test

Short Answer

Solve the equation using square roots.

2 _
1. x*+20=4 Xl: i\

X= 2o
Solve the equation.
2. =8n(10n—-1)=0
(10 ) \D{\r \—o
nNe —
n=-O 1O

Find the number of real number and complex solutions for the equation.

3. x2-18=0 b% Uac o —uL\\L-\c‘h = A2 Q.Q_d

4 Pasx+7=0 6 -t ('1) = 24 -2% = ~¢ A VNG AN

Solve the equation by factoring.
5 32°+32z-6=0 o
(2« \2'—1\” ?7\;*7,», o T -\=e
3(2+3)&E V-0 2=-2 T 2=\ \
. 6P —17x+13 =20x% - 32

C= \l—\x1+l",¥_qg -L30 (7)(-‘?)(2)(‘1'5"):6
| =1 - -3
G = 3

7. Find the value of n such that x> +4x +7 is a perfect square trinomial.

(3Y= 27: 4

(-_—_'"———-—-_._

N=4y
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Use the quadratic formula to solve the equation. If neccessary, write in simplified radical form. @
o ossarmeo X7 Mot Tuer. u (NCas))
2 (D) “
Y.HP.‘N_‘E‘.S e Hexlo A== Iy
T oA g > 3¢ .

Solve the equation by completing the square. If neccessary, write in simplified radical forin.

9. x*-6x-20=0 X1‘~Ux + A - 2.0 44

iy —59:2‘\ T ey
(%Y <Xx-—?5-,-+..l’z"‘- ) X235 \

Use any method to solve the equation. If neccessary, write in simplified radical form.

10. & -6=0 Ex* = G x* L _3%

/‘P

30— =
Factor the expression. ﬁ 2
11. -15" ~2lx @

-2x (5)( +‘|\

12. &*+12x-16

4t zx -4y L 2l
13. x* + 14x + 48
()4e) (X + 2
.
14. 3x* + 26x + 35 ——
. ?1)5" Z ey
(XN (3y v IxBriin o
15. 16x? +40x + 25 5 (& _5_.2_
(L(x )
16. 9x* - 16
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Reasoning and Writing in Math

Which method(s) would you choose to solve the equation? Justify your reasoning.

32 =27=0 S% Q—eb"\r \0](— ez 18 no
(
o) QQ\UUL PN\SU\TQ@S \/aﬂj

Evaluate the discriminant of the equation.
State the type and how many real or complex solutions each have?

18, 3x? ~27=0 01'*(3)(‘2“3
4 >R

3x® +5x-27=0 15-4 &33( ,-,_;,\
49— & -

X +6x-27=0 3(0"'\(\3('2"\ - ¢y —> QQ.«






